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/General Instructions fo Candidates : .

® There is a ‘Cool-off time” of 15 minutes in addfﬁb’ri to the writing time.

Use the ‘Cool-off time’ to get familiar with questions and to plan your answers.
Read questions carefully before answering.

Read the instructions carefully:

Calculations, ﬁgures and graphs should be shown in the answer sheet itself.
Malayalam version of the questlons is also provided.

Give equations wherever necessary.

Electronic devices except non-programmable calculators are not allowed in the
Examination Hall.
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PART-A -
Answer any 5 questions from 1 to 6. Each carries 1 Score. ‘+" (5x1=5)

1. Accessing each element of an array at least once to perform any operation is known as
3 . L ¥ ' e

\

P

2. Variables used in the function definition is known as

3. Which among the following is an empty tag ?
(3) <TABLE> (b) <FRAMESET>
(c) <FRAME> . (d) . <FORM>

4. Name the type of database user who interact with the database through the pre-written
- application program. : : .

5. Which DML Command is used to retrive information from spéciﬁed column in a table ?

ape
St

6.  Write the full form of MIS.

-~ PART-B

Answer any 9 questions from 7 to 18. Each carries 2 S_éores. : : (9x2=18)
7. What is token in C++?
8. Write the use of break statement in C++

9. Rewrite the f_‘ollowing code usihg for loop.

"~ sum = 0; g I S
A= 0; o
while (i<10)
{
' sum = sum + 1ij;

i=4i+ 1;

} _

cout «”sum = "«sum; -
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PART—-A /' |

1 )@@ 6 Aenn 6aldiEBElad pom®lel)e 5 n@)gnmuﬂm“ DOMOa )P} ®)d.
1 capod alloe. (5x1=5)

BBl wmracommo MSOMOM ) Array Wleel &ewo (amomsmcsgm)go 80)
@UIMORBIENo @RSV o lgam@iom af)m) alO@)AM).

aneMaMad aNAdalalmMET@3 Q@c&ouﬂmg&m" caidlomig)mes
af)aMalO@)AM). :

@IOP 2 IOWIMAIWID aF@OeM empty SoU3 ? _
(3 <TABLE> (b) <FRAMESET>
(c) <FRAME> (d) <FORM>

@)3)S ng)sp;mﬂ@ (G@gcﬂ(%cﬁ@oﬂdﬂﬁ GO0 msﬂ (u)ogo etmjtmgmomﬂ quomd]@agan
QDOQO NIV ENTVOYOS Gal amwgtmgcea

a0) csmilgloer Mddly dlowlad mlan o_ﬂmmsmua ojlamas;oes)on'a ag@ DML
SAOMAOET DaICRIUBNIM@) ?

MIS &3 a)@an@alo n@)@g@;&.

.+ PART-B | _
7 a)®ad 18 aIon GalosyeEnSElos ogfgs)maﬂel;o 9. ng)%m'lm gmmmmw;m;a:
2 capod aflmo. ; - (9x2=18)

CHoRl ESISHN3 af)qmET) ?

C++ break czggg"amc@ar@ DalCQIN0 af)9)ND.

@069 OB:05)ONElEeM G0 for 100p . 9alc@oUila] @OG) a9},
-sum = 0; : T
i=20;
while (i<10)
{ .
sum = sum + i;
i=1+1;
}

cout «”sum = “«sum;
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- 10.

11.

12.

14.

15.

16.

17.

18.

Consider the following declaration . ¢, | i f e
int arr[5] = {1, 5, 8, 3, 19};
(a) Write.the value of arr [3]

(b) What will be the value of arr [4] - 5;

Write the difference between getchar( ) and put char()
Write the use of the following tags :
@ <B> ® <

© <U> L@ <@

Write any two attributes of <TR> tag. |

What is CMS ? Write the use of CMS.

Define the following : T | Ll
(a) Entity

(b) Relation

Write any two Benefits of ERP System.

What is SCM ?

What is Infringement ?
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10. ©06¢ 6@0S)OTAGEN)MN WlGE0aHM aldlneilan)e:
Intarr[5] = {1, 5, 8, 3, 19};
(a) arr [3] wes aflel ag)9yess. -

l!-.‘ 1 s Ty

(b) arr[4] -5 eqd melje o) Blae)e?

11. getchar( ) ®o putchar( ) Qo ®@alenss a1y 50«1;;"};6)@3@3&.

1

12. ®26¢ al0@)AM SIUGHBOS DalCWINo af)#)@)d:.

(@) <B> R (b) <>
) <U> @ <Q>
13. <TR>soul0d ngomElele 0me @RSINIYSIH af Ym)o.

14. agamoem CMS ? CMS 63 9alG@Io ng)tpgmg@.l Lo

15. @089 alo@)mal aldq)alee)s :

(a) Entity
_(b) Relation

16. ERP avlquarsilang «gameslelo Q6NE CAM DD o@)@;@gc&:.
17. eamoem SCM ?

18. Infringement ag)amom3 ag)am ?
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PART - C | |
~ Answer any 9 questions from 19 to 30, Each carries 3 Scores!-'- - (9%x3=27)

19. What is entry-controlled loop in C++ ? Write the Syntax of any one entry-controlled
- loop. iy Lt ‘

20. Write appropriate array declaration for the following :
(a)  tostore height of 10 students in a class
(b) to store name of your scho;o‘jl_._-
(c) to store age of 50 students l | ‘ | i

\ Eig

21.  Write the service associated with the following software port number :

Port Number Service
25

80

443

194,

22. Compare client side scripting and server side scripting,

1y

23. Write HTML code to get the following output using ordcred list

M. PRINTER
IV. MONITOR
V. PLOTTER

24. Write the names and use of three attributes of <F ORM¥tag.

25. Write the use of the folloWi’ng Built-in functions proﬁéfty in JavaScript :
O (a) toUpperCase() ' '

(b) length

(c) charAt()

SY-46 - | 6



19,

20,

2%,

24.

25.

PART - C+

19 aym@d 30 msxo cmoa;smgmﬂ aBO®BIENS 9 0fAROTIM QTMHAHBLI)D>.
3 capod afloo. | (9x3=27)

C++ omi n@(\ﬁ@@é‘lﬂe(sou%w elaj ng)cmomﬁ ng)dm" ? .ng)G)(U')IBﬂEIgo, A0)
af)BSlbmiesodan’ enaflond Syntax of)9)m)d. “

@IOPAIOW)AMAURSE @RM)ERIRAOW Array Wl EOnHD af))m) |
(@) . soygoavleal 10 aflzdidle.ges gwo Loe@lanM@M
(b) allemgs VeSO Gald MordlommMaIMm'

() 50 alapdmlemes (lows crwam].aagcmm’ldfl

@Y al0WYIN GIVIa0QEAURA Galddg MMUN)AOW] MIMWER|F CTVAIMo af) )}

Galodg Mm@ GaVAIMo
25

80

443

client side scripting 9o server side scripting 9o @m\’lmﬁ @AYo 6)a 1Y)

. @I9Y alo@)IM 8DFal)g en@'lces);cmm]d)ggg HTML e ordered list 9al6@oufla|

af) 9S>
III. PRINTER
IV. MONITOR
V. PLOTTER

 <FORM> soulle aam @wyslen NGBS GnlQo DalEWONA0 af) )@,

200 (Miaigloal @Y alow)am n@dg DM aNEBUMBHOS Caldaldglw)es
D IGO0 af)P)®)d:.

(a) toUpperCase()

(b) length -

(¢) charAt()
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26.
27.
28.
29.

30.

What is FTP client software ? Write,an example for it,

What is key in DBMS ? Write the difference between candidate key and fore‘ign.key .

Briefly explain the three levels of data abstraction in DBMS.

- Write the name and use of any three column constraints in SQL.

“There are cyber crimes against individuals, against property and against government.” |
Briefly explain any three cyber crimes against individuals.

PART -D

Answer any 2 questions from 31 to 33, Each carries 5 Scores.

Consider the.following code :

int add (int a, int b)

{
int 3
c=a+ b;

Return c;

}

int main ( )

IR

int x = 10,
Zz = add (x,
cout << z;

return 0O;

3

(2) Write formal arguments and actual arguments in the above code.

y = 25, z;

y):

(b) Write output of the above code. ' (T3

(c)  Which type of function Call is used in the above code ? Explain.

SY-46
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| 26.

27.

28.

29,

agamoem FTP client software ? @p@im 8@) gao;mcasmo ) P) @

DBMS oel key ag)imomd ogyam ? Candidate key' @o foreign key oo (a)rzm’leugg
QAo )T ?

DBMS eei data abstraction 603 a)an) ®e1emud a yoasl aflaidles)e.
SQL ee! ago@silel)e @)an) Column Constraint@@)es Galle DalCINON0 af)P)@)d:.

“QUEMSHUW3NENTIR0W]0, TVIOTIOMEIROW)o tmcﬁmoc&m%ﬂmowp OOTVETUAB )] |
@DIMEBUT  DENROBOYNE.  QAUYBIIBUBOGOTIHOO® @’ oeaLenId ‘a)ggoe,é@ymag

&go‘lg 2168 AflaIGlan)e,.
PART -D

31 q@a3 33 e caEiBElIE ago®EBILl 2 afgROTIM 2OMOOA)®)d. 5
capad alle. g . (2x5=10)
Consider the following code :
int add (int a, int b)
{

nk &3

c=a+ b;

Return c;
}
int main ( )
i

int x = 10, y = 25, z;

. z = add (Xr Y);
cout << -z;
return 0;

(a) megee caoloel formal arguments ®o actual arguments Do ag) 9}

(b) medeel caousomn amg"m;g”'n@wmg@;. |

©) ooagee caowled g @0 aN@EaUMB CHB Dalcwoulladlenmm) ?
allvodledlee)s.
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32. Write the value of z in the following JavaScript Code. -~ -+~ e
(@) varx,y,z; '
Cx=15;
y=6;
z=x%Yy, - !
(®) varx,y,z |
x = “JavaScript”;
y = “Programming”,
Z=p+q;
(©) var x,vy,z
x=25;
y=35
x[=y;
z=x+6;
(d) varx, z
| x = “JavaScript”;
z=1sNaN (x);
(e) varx,z;
x=“JAVASCRIPT”;
Z= x.toLowerCase( );

33. Consider the table .ezr}ployee. given below :

EMPID | EMPNAME | DESIGNATION | ‘BASIC
1000 |ARUN  |CLERK ~  |125000
1002 |RAJU  |SALESMAN - |:'15000
1007 |FATHIMA |MANAGER | 40000
1010 | JOHN MANAGER | 40000
1015 | AJITH SALESMAN | 15000

Write SQL statements for the following :

(a) Display the details of all employees. ,

(b) Display the details of employees in asceﬁ&‘i‘hg order of their basic pay

() Display name and designation of employees whose name starts with the letter ‘A’
(d) Increase the basic pay of clerk by ¥ 3,000. ‘ '

(e) Display all émployees except manager and clerk.

i u'_‘;(
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069 al0)I JavaScript aaoald z 6] 2JEo ARSI
(a) varx,y,Z
x=15;
y=6;
z=x%Yy;
(b) varx,y,z
v = “JavaScript”;
y = “Programming”,
z=p+q;
(¢) varx,y,z
“x=25;
y=3;
x/= y;
Z=x% 6}
(d) varx,z;
x = “JavaScript”;
z=isNaN (x);
(e) varx,z;
x =“JAVASCRIPT”;
z = x.toLowerCase( );

@069 oa;os;mm’l(&ces)g«n EMPLOYEE csenls3 oJ(mcnsm'Ioaé)goeJ B

EMPID | EMPNAME | DESIGNATION | BASIC |-
1001 |ARUN . |CLERK 25000
1002 |RAJU . | SALESMAN 15000
1007 | FATHIMA | MANAGER 40000
1010 |[JOHN  |MANAGER | 40000
1015 | AJITH SALESMAN 15000

enlao@)amaigowi SQL cxg};gs)-r@g@;uﬁ ) O)OD :

(@) agegp dlmm.ss)oogcs«»;o aflvoEoewdERUd weraooh.jlmgcm(m’lm

(b)  Hainescoms alloB0MMU  @RAICMS basic pay@ps @RGROANEM
@200 @Iedudlalemmaim. | .

€) ‘A’ oM @EROHUOOHIMI @RRoElenam  laIMaeeies name, designation

al (r18BuBla flemam@ia |
(d) clerked basic pay 3,000 @}l m@@m«g{l@egcm@m
(6)  Manager @o clerk po @¥l0S@)BS af)p)d HlAIMANOCOW0 (aIBdudlaflem)maim.
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